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MASTER OF ARTS (Economics) 

Term-End Examination 

December, 2013 

MEC-006 : PUBLIC ECONOMICS 

Time : 3 hours 	 Maximum Marks : 100 

Note : Attempt questions from each section as directed. 

SECTION-A 
Attempt any two questions from this section. 
(Answer in about 500 words each) 	2x20=40 

	

1. 	Which kind of public intervention is still not 
considered a part of public Economics and 
Why ? Why would public intervention differ from 
economy to economy ? 

	

2. 	Critically analyse the impact of public debt. on; 
(a) Production 
(b) Private sector 

(c) Resource allocation and national income 

(d) Working of the money market. 

3. What do you understand by externalities ? What 
are the various types of externalities ? Discuss 
possible consequences of negative externalities and 
major solutions thereof. 

	

4. 	Critically evaluate the Rawl's theory of justice. 
Compare it with Nozick's is theory. 
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SECTION-B 
Attempt any five questions from this section. 
(Answer in about 300 words each) 	5x12=60 

	

5. 	Distinguish between merit and public goods with 
the help of examples. 

	

6. 	Compare and contrast Samuelson's Social 
Welfare Function with Rawls and Bentham's 
formulations. 

	

7. 	What is public debt ? What are the main 
differences between public and private debts ? 

	

8. 	What is crowding out effect ? Explain in detail 
giving the types of crowding out effects. 

	

9. 	How does the imposition of a tax distort the 
allocation of resources ? 

10. Write short notes on any two of the following : 
(a) Foreign Direct Investment 
(b) Fiscal Federalism. 
(c) Prisoner's Dilemma. 

11. Privatisation decreases the extent of political 
intervention. Explain. 

12. Do you think that the theory of optimal tax system 
is relevant from policy perspective ? Argue for 
your answer. 
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